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D00 00o00oooooodnO Asisknowntoall, itis
important to be/ doJ | think there are at least two reasons. For one
thingd , For another, [J Let’ s takel] for example. From what |
have mentioned above we can see that withoutl] we cannot

[ Clearly, U plays an important part in(LJ www.[] xamda.CoMU L[]
000000 Different people, however, have different opinions
on this matter. Some people think thatlJ According to them, all of
us should Others argue that[] In their opinion, nobody can

(1 withoutlJ There is no doubt that[J For example, compared with
I, [ has a lot of advantages. As a consequencel] . As far as | am
concerned, | firmly support the view that[J] It is becausel] So my
conclusionisthatl] (109words) O OO OOOOOO Asis
shown in the table (or in the picture), L1 Odropped fromL] in 1994 to
[11n 1996. According to the figures given in the table, L1 has great
Increased (or decreased) in the pastl] years (or decades), reaching
[11n 1996. From the table we can also see that there has been a sharp
decline (or rise) inlJ Itis clear thatl] There are at least two good
reasons for] On the one hand, [J Let” s have an example to
illustrate the great increase in] On the other hand, [J is due to the
fact thatl] in addition, [ is responsible forlJ Maybe there are some
other reasons to showL] But it is generally believed that the above
mentioned reasons are commonly acceptable. As far as | am



concerned, I trust thatl] So my conclusion is that[] | am sure my
opinion is both sound and well-grounded. (131 words) [ [ [ [J [
Jdoooooooooobdoooooobooooog,d
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